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/ General Instructions to Candidates : \

® There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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SECTION -1

Attempt all questions from 1 to 3.

1.  Write examples each for the following :

(a) A residual sedimentary deposit.

(b) Solid form of petroleum.

(c) An evaporite deposit.

2. Fill in the blanks with appropriate terms :

(a) At the refinery crude oil is separated through the process of

(b) An exposure of bed rock on the earth’s surface is referred to as

(c) In type of unconformity, the beds below the unconformity dip at different

angle than the bed above it.

(d) is the branch of geology deals with the study of the history of the earth.

3. Make appropriate pairs using the given terms :

(Volcano, Correlation, Saline water intrusion, Fossils, Erosion of river banks, Over

exploitation of ground water, Ash flows, Sand mining)
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SECTION - 11

Attempt any 7 questions from 4 to 13. Each carries 2 scores. (7x2=14)

4.  Differentiate between the terms ore and gangue used in connection with mineral

deposits.

5. Mention the industrial uses of clay and graphite.

6.  How mafic igneous rocks are different from felsic igneous rocks ?

7. What is the significance of fossil fuel as a non-renewable source of energy ?

8. Briefly explain the relationship between igneous, sedimentary and metamorphic rocks

in the form of rock cycle.

9.  What is the difference between relative dating and absolute dating in geochronology ?

10. “Materials from the land surface can move through the soil and pollute
groundwater.” Examine this statement and list out major contaminants that pollute

groundwater.
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11.  What will happen if the global temperature increase in an alarming rate ?

12.  How are focus and epicentre of an earthquake related ?

13.  Most of the destructive earthquakes originate within two well defined belts. What are

these belts called ? Name these two belts.

SECTION - II1

Attempt any 6 questions from 14 to 21. Each carries 3 scores. (6 x3=18)

14. What are tsunamis ? How they are generated ? Why tsunamis are so hazardous than

ordinary seas waves ?

15.  What do you mean by the term granularity of an igneous rock ? Explain.

16. ‘Mineral deposits of economic value are formed during magmatic processes.” Analyse

this statement and comment on their types.

17. Rocks undergo deformation when subjected to a stress. How can you represent the

different stages of rock deformation as a figure ? Label it and explain.
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18.

19.

20.

21.

22.

23.

Can every organism become fossils after their death ? Which are the modes of

fossilisation of organisms ?

Which are the primary and secondary effects of an earthquake ?

What are seismic waves ? Compare and contrast their characteristics.

What is disaster management ? Which are the key components of a disaster

management cycle ?

SECTION -1V

Attempt any 4 questions from 22 to 26. Each carries 4 scores. 4x4=16)

As you know rocks are classified into three major groups as igneous, sedimentary and

metamorphic. How will you classify them again ? Explain with examples. “4)

Coal can be divided into different types based on their carbon content. Do you agree

with this statement ? Substantiate your answer. 4)
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24. How folds are formed in rocks ? What are their types ? Illustrate with figures.

25. Mining activities have varied effects on different spheres of the earth. Write a note on

the effect of mining on different spheres of the earth.

26. Kerala State had suffered recently the difficulties of flood and land slide hazards.

(a) What are the main reasons of flood hazard ? )

(b)  Suggest some mitigation measures against land slides. 2)
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Answer all questions from 1 to 5. Each carries 1 score. (5x1=5)

1. The wrapping up of data end functions into a single unit is called

2. Inalinked list, the link part of the last node contains data.

3. Give the full form of VPS.

4.  The number of rows in a relation is called

5. In PHP, arrays that use string keys are called

Answer any 9 questions from 6 to 16. Each carries 2 scores. 9x2=18)

6.  Define a structure named ‘Time’ with elements hour, minute and second.

7. Read the following C++ code :
int a[5] = {10, 15, 20, 25, 30};
int *p = a;
Write the output of the following statements :
(a) cout <<*(p+2);

(b) cout<<s*p+3;

8.  List the different operations performed on data structures.
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9.  Write HTML tag for the following :

(a) Hyperlink to the website http : /www.dhsekerala.gov.in

(b) email link to dhseexam@gmail.com

10. Describe the use of ‘action’ and ‘method’ attributes of <FORM> tag.

11.  Explain the two purpose of ‘+’ operator used in JavaScript.

12.  The JavaScript function given below is used to display the sum of digits of a given

number. Fill in the blanks to complete the function.
<Script language = “JavaScript”>

sum digit( )
{varn, s;
n = document.frm.txt1. ;
for (s = 0; ; n=n/10)
document.frm.txt2.value = s;

}

</script>
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<Script language = “JavaScript™>
sum digit( )

{varn, s;

n = document.frm.txt1, ;

for (s =0; ; n=n/10)

document.frm.txt2.value = s;

}

</script>
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13.

14.

15.

16.

17.

18.

19.

20.

21.

Explain any two constraints used in SQL.

List the core data types in PHP.

What is meant by GIS ? Give an example.

Define Infringement.

Answer any 9 questions from 17 to 27. Each carries 3 scores. 9 x3=27)

What are the different memory allocations used in C++ ? Explain.

What is polymorphism ? Give an example.

Write an algorithm to insert a new item into a Queue.

Differentiate between static web page and dynamic web page.

Briefly explain the different ways in which a JavaScript code can be inserted in a web

page.
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22.

23.

24.

25.

26.

27.

28.

29.

Distinguish between shared hosting and dedicated hosting.

Explain different levels of data abstraction in DBMS.

Describe the ‘union’ and ‘intersection’ operations in relational algebra with suitable

example.

Write PHP code to display all even numbers below 100.

Explain the cloud service models.

List and explain any three e-learning tools.

Answer any 2 questions from 28 to 30. Each carries 5 scores.

Explain the various attributes of <BODY> tag.

Write HTML code to display the following table in a web page :

Result of ABC school

Students
Pass
Year ” )
Registered | Passed ercentage
2014 200 130 65
2015 200 150 75
2016 200 160 80

SY 30
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Result of ABC School
Students
Pass
Year ” )
Registered | Passed ercentage
2014 200 130 65
2015 200 150 75
2016 200 160 80
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30. A table named ‘student’ with fields Roll no., Name, Batch, Mark, Grade is given.

Write SQL statements for the following :

(a) To display the details of all students in ‘Science’ batch.

(b) To display the details of these students having grade A or A+.
(¢) To count the number of students in each batch.

(d) To change the grade of the student to A+ whose Roll no. is 50.

(e) Remove the details of student whose Roll no. is 10.
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30. Roll no., Name, Batch, Mark, Grade ag)aril afl@3an)a0d 988 student ag)m Galdlenss
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(c) 630¢0 MIdICRIV)0 BSIBBOS ag)sNo SHOEMEMo.
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(e) 10 agyam Roll no.-ee1 )5laes aflaioeanud ailodo ealgemo.
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Answer all questions from 1 to 10. Each carries 1 score. (10x1=10)

1. A voltage regulator IC has number of pins.

2. The basic electronic component in a clipper circuit is

3. The passband of a low pass filter starts at frequency.

4.  The maximum value of modulation index in AM is

5. Name a digital modulation scheme which uses two different frequencies.

6. The type of optical fibre in which the refractive index of the core is varying

continuously is

7. The number of horizontal lines in one frame of Indian TV system is

8.  The type of memory which needs refreshing to maintain data is

9.  Which device is used to transmit data from a computer over a telephone line ?

10. The number of satellites used in GPS is

Answer any 6 questions from 11 to 18. Each carries 2 scores. 6x2=12)

11. Draw the circuit of a positive clamper and show the output waveform.

12. A carrier of 100 W is AM modulated and the power of the AM signal is 120 Watts.

Find the power of one side band.

SY 31 2



10.

11.

12.

1 2)®@8 10 Q190W)BH af)L10 Gal03EBUBEN)o DOMOOALI®D. 1 c1d allmo.

(10 x 1 = 10)
830) caloudeseR onyer1gd 1C-g af)epo afllamag)ene.

830} Fla|@ TLABORSIOLI @ESITVOIM EDEIGESIETD; *RISHo @Y6I.

630} CRIJ a0V afl@3531Oa3 aloaVmIong” (Ol mBavl]@d m)ses)am).
AM-6£1 a0a)celarad HABAW BTN aiQalle &Sl ailel @RYH)aM.

e’ Ay (OlBHIBIIBHB  Dalc@ouflanam 80 WlEgEd  cAdW)ELIHd
alBL@IWNS Cale)OPIM)D.

€308 OO ®)SB2 @O GlNadSlal’ MBIV BG1OEHIMEIGBISNMN @00
BaiSlanmd H6anMIAB @RYsM.

snamyiloel TV aveallwomaml@d &0) eendlalenss @lowmiln  eeeimes)es
)Mo @M.

wog MeInlBEmoad dlnaHlow) @RHAIND AW HAAG @R)6.

830) SHMINgFIes Mlames awog esellcandem eerINIae)S] @RO@IAM@IM caleel
DalCIUTBNM DaldMEA® ?

GPS qoalwom@m@8 9alcwoullanmm MOgenLIgIdSIes af)eNo @YeIn.

11 2)®@3 18 2160WBS ¢2103BHEI3 a@omBILNe 6 g INOTIM 2ODMOOA)®)d>.
2 ¢apod afloeo. (6x2=12)

830} caloavlglar omiclead ALASOYS Ala] BVFal)g EAIAIEaN0 HOEE)D .

100 W al0i0)88 80} $H0dl@dlom AM G2a0a)ERIaHMB §al@QCalowd gl AM
adluneilond a1aid@ 120 W @em. o)amo@d &30} 0eavab mioaflead alaid
&eNB)a S0
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13.  What property of ionosphere is used in radio communication ?

14. Give the reason for fading of signal in space wave propagation.

15. Write one advantage and disadvantage of taking large number of samples of a signal.

16. Draw an FSK signal. How many different frequencies are used in this system ?

17. Write the difference between a compiler and interpreter.

18. What are the three types of cells depending on its size in mobile communication ?

Answer any 6 questions from 19 to 26. Each carries 3 scores. (6x3=18)

19. Draw the circuit diagram of a 4 : 1 multiplexer.

20. Write any three advantages of optical fibre communication.

21. What is total internal reflection ? How is it achieved in optical fibre ?

22. Describe the characteristics of a graded index fibre. Mention its advantage.

23. Describe the method of interlaced scanning.

24. Calculate the time period of horizontal sweep waveform used in TV.

25.  Write short note on machine language, assembly language and high level language.

26. Mobile communication uses cell system. What do you mean by frequency reuse here ?
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13. lonosphere-603  aB®)  (ICOIBH@®IEM  COWIECWI  HOANFVICHNHMIGB
DalcOUlEMM@ ?

14. Space wave propagation-@d aVlunelm  canWlow)  uoeaileMMNGIMSS
BOVEMONPIDD>.

15. &0y milunelleond s @@ aggho MOMABIV af)SeNMEIOd B06E0 EeM3ANo
G050 af)9Y®)).

16. &0y FSK signal alo@i®. ep® avlquomilcd of)@ aiy@yay  @Olamadlagoem
DalcoUleeMM@ ?

17.  &0) compiler-9o interpreter-oo @aAILNSS QI PAVHDLID)D>.

18.  Mobile communication-@3 ©ALENHOS @AIW)EOS AlLila|EBIONG @RSITLOOMEBI®3
af)BOMWIEM @00 G Blafldlee)ama ?

19 2)®@3 26 2100WBS €2 1034IBSIG3 aBO@EIENC 6 AGEANOTIM  DODOOAYL®)d.
3 capod afloeo. (6x3=18)
19. 8014 : 1 ardslalaauiload ALdE9 NS WU QIO

20.  8aiSlen®s ©6aNMIB HARMICHNHUOT aBOD@EFIRN0 MAN CMFEBUD af)9) D).

21. @s05@8 gDEABEM@3 GlaQdHaB af)MO@E af)aMEM ? BaiSlenas 6eanmMIoIE N®)
MLOW A BHYIMODETBAM ?

22. 80} CUWW MHIBWHTV 09a0mIcOHM @ICOIDH®HURB allaldlee)d. HTIa o)
GMSo alEINBUTIBNE>.

23, eABAROHLRIVIVAW APITloU) ad)@a®aN allaIGlee)w.

24, TV-0l@8 9a1c@orfleaam 6a00dlcavosme@d auflaj calaicanddlemd eese aldloay
&eNB)af1S1H6)d.

25.  02aHl18 £1006UIR, @AVl LI00ENIR, OO HRIAIGE LIDCUIR af)INIQIOWENa]
0210} 301610 | ).

26. 02006MIG3  HAPIMICIDHMIG  OHAVGE  MIaVo  DaleWOUIlENAM).  ghafles
(Ol@ Bl GV af)M@OIB06ME DERUBIENAND af)T® ?
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27.

28.

29.

30.

31.

32.

Answer any 5 questions from 27 to 32. Each carries 4 scores. (5 x4=20)

Draw the circuit of a zener voltage regulator. Explain how it gives constant output

voltage when input voltage is varying.

(a) Draw the circuit of a comparator. 2)

(b) In a comparator, a sine wave of peak voltage 10 V is given to the positive input

and a DC voltage of 5 V is given to the negative input. Draw the output

waveform. )
(a) Draw the circuit of a one-bit comparator. 2)
(b) Explain how it works. 2)

Explain the steps of determining modulation index of an AM signal with the help of a
CRO.

Write short notes on any four advantages of networking of computers.

(a) What is the requirement of a multiple access scheme in mobile communication ? (1)

(b) Briefly explain the three widely used multiple access schemes. 3)
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27.

28.

29.

30.

31.

32.

27 ay®@3 32 Q1908 ¢2108BEI08 a@OmBILNs S af)aMOTIM OO af)P)®)D>.

4 capod afl®eo. (5x4=20)
830} 6OAVMA caUWESER 0MIERIQTIONG TLABOYS AIOW)®. DMBalg COINUWBESE
20010ENMEIBIINEMUINB af)IBOHM@IEN D@ TLOlIOMWIBB BVFal)g GAIOUWBESER
@O af)an Al VOBAIHN)B.

(@) 80} B>MICOgFION TLBHHYS AIOID . ?2)

(b) 80y smicogdland caalglal epadangl@d 10 V afles calowdesess o)
eeavad calalp emwuglal amanslad 8o} 5 V DC @p 9805)0mo@d Hlgyam

33al)g CADUBESR QAIOW)H . ?2)
(@)  80)agd mig B>MICOgFlang rVBHH YT AIOWID . ?2)
(b) oo (IAIBEDMo allUoBABN)D. 2)

30} CRO-allod quato@eomios AM  avlunellond caoa)eelaHad  sDIMBALSIV
B&en_)allslenam Al aflaidles)s.

HSHM1Y58 6dMQAIBBHNoUDZ aBO@ LI MOLT EMSEBOG 3)0la] 2 OIS af))®)d.

(a) ©2006MmIG3 BHYIMICHNHTIT 2UdGla{ld ERGBILIV Mlaloagd @RYAIVDY!H®

) ). 1)
(b)  apQAIP HS)®ENV] YalecoUdleIM MM BU3Slaflud BR/GIVAV WIMBOSSMTla]
210060 QlaIGl99). (&)
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S

Reg. No
NAME ¢ coeveeneeeereennecereeenecreessecseenne
MARCH 2019 Time : 2 Hours
Cool-off time : 15 Minutes
Part — 111
STATISTICS
Maximum : 60 Scores
/ General Instructions to Candidates : \

A3 §08018, 03953 B3 ) 12@))MIBCFI060BI3 :

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.

Statistical tables can be used in the examination hall.

MBGley MLA@TTIM ajoea 15 2AlMlg” ‘@03 B3oa0 ©6Se” DeNoElHe]o.

‘@B B0a0 OS0’ €aldBEIBRB al@lalWea|SOM)o DTMABUB  GBIRYAVY®6Mo
6210M)o DalCGWIUTBN).

DOTHOBUB af)$IIM@IM DN GaloBEIBUD YIBLIAIBY o AIOWBHEMo.
TBE3U0eBU3 MIAIM)e UYBLIABQo AIOWBHEMo.

@MBS H)SENDHUB, 2l(@OBUB, N0an)dUB, agavial DOMOECala|dlo8 @AM
MRVl H96Mo.

Cal0B§BU3 2LIVOgEIeNe Mellwig)ere.
@RYQUUD MBS TLOLIGIT) TVANIID EIBUD HBHIS)AN6Mo.

CEDIMBUB  921QYIMIBHITD  HOTCINCLIGN)DHUWB  BYOHWBB B0
EDLIGESIEM] D Daldh0eMAle al@ld0a0dEI@3 DalcOIWl9AI0Ns aldSlg).

aogladlanasd esmilg)dud aldlamoa00S]68 QalE@OUIIEnIANIN @M. /
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Answer any 6 questions from 1 to 7. Each carries 2 scores. (6x2=12)

1.  Match the following :

A B
() by=2b,=3 (a) by, =025
(ii) bxy:—i,byx=_4 b) r=1
(iii) r=05,b,, =1 (© b, =05
(iv) r=0.5, bxy =0.5 d) r=-1

2. Choose the correct answer :
(a) For a hypothesis test, o = 0.05 and 3 = 0.01. The power of the test is
(i) 0.85
(i) 0.15
(i) 0.99
(iv) 0.95

(b) While applying t-test, it is necessary to ensure that the distribution of the
population is
(i) Normal
(i1)) Chi-square
(ii1)) Student’s't

(iv) None of these a+mn

3. Define the following :
(a) Level of significance

(b) Critical region

SY 32 2



1 2)®@3 7 219088 21033303 aBo®EsIEl)e 6 afENOTIM DODOOAI®)db.

2 (s%)oé afloo.

G2l0)onlS] GalBB® :

A B
) _ 1 (@ b, =025
(1) bxy =2, byx =5 M
.. 1 B (b) r=1
(i1) bxy =" byx =—
(i) r=0.5, bxy =1 (©) byx =0.5
(iv) r=0.5,b_=0.5 (d r=-1

OV DTHVo HDVHETNSIHDNLID)> :

(@) 80) aldlPHe|M (96a0CaTIVIAY) al@lcrodwmI@3 o

af)aVIQI@IEM. @) alGlEUIOWMMAS alQ)d

(i) 0.85
(i) 0.15
(i) 0.99
(iv) 0.95

(6x2=12)

= 0.05, B = 0.01

(b) t 201N BB alBICUIIWDM DalCRISIEHNME @RAITVEODIGZ TVAYIWIOS

MVoRIAIY®O All®eMo BRYWIBICHNMB®

(1) emIdn®3
(i) eed-apIad
(iii) quawag” t

(iv) sneomommyag]

21)Q16S al0@)ANAl MAQ|a land: :

(a) avlvmladleamday” melo

(b) @ISleemd caalel

SY 32
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4.  The probability distribution of a random variable X is

X

() =75, x

=1,2,3,4,5
Find (i) P(X>4)

(i) PO<X<2)

5. Write any four properties of Normal distribution.

6.  Variations are inherent in every statistical data. There are various causes for variation.

What are the causes of variations involved in ANOVA ?

7. The following data is obtained by inspection of 8 samples of size 10 each :

The control limits for np chart are given by LCL = 0, UCL = 13.53 and CL = 7.10.

Check whether the process is under control without drawing control chart.

Sample No. 1 2

3

4

5

6

7

No. of defectives 2 7

14

9

7

1

15

Answer any 6 questions from 8 to 14. Each carries 3 scores.

(6 x3=18)

8. The equations of two regression lines obtained in a correlation analysis are

4y =9x + 15 and 25x = 6y + 7. Obtain the value of the correlation co-efficient.

9. (a) Choose the correct answer :

If for a random variable X, E(X) =7, then E (7X —3) is

(1) 46
(i) 52
(b) The pdf of a random variable X is
flr)=3x2,0<x<1
Find E(X).

SY 32

(i) 49
(iv) 45
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4. X o) HA0aF® 2 IO TVoEIAIK®I AlMAEMo 2 RAIOS HEBHIS)BNM) :

X
fx) = 15X~ 1,2,3,4,5
(1) PX>4)

(i) P(0 <X <2) agyavilal £06mM)d.
5. emodacs almosmanag aBo@eslele ML (aIC® D@ BHUB af) $)0)D .

6. apeP  Moalld  aogaden.  alGleomeswd  ©uBeajdarigene. Y
QIYTIQIMEBURBHS  alLI®Oo  H0eMenUd 9me. ANOVA-©Ia8 9udea]slclasiam

QIYTIQIMEBUB aBO@EORGM ?

7. 10 agemo allomes 8 muomilgid:g)es aldlewowmeiled eigla] AWOgEIM 21)Q10S
£3IS) OB BNIMO) -
np gJoc8§16m§ Ml@em aldlwWlaud LCL = 0, UCL = 13.53, CL = 7.10 ag)amlaicosm.
gnailes (i@l Tle@em alcwareamIe@aN WOE®EM 21085 AIOWIO®

al@lcuooWlee)d.

avomilud mmu@ 1 2 3 4 5 6 7 8

MBHOINBBAUWOS af)siNo 2 7 14 9 7 1 15 5

8 2)®@3 14 A160W)BS ¢21034BSEIG3 aBO@ESIENC 6 f)AMAMIM D2OMOOHAY) ).
3 capod aflowo. (6x3=18)
8. ®&0) quateniqw allaeimomlenns  elEls] M8 AlWaHM  CORIGBIEM

4y =9x + 15, 25x = 6y + 7 agyamilal. QVa0MINW N}IMIBODBIAR Qflel 06m)d:.

9. (a) VIRIVIWVW DTNV HMAHETNSIODTNLYDD>
X a)am »20adl® aloomlond E(X) =7 @arwoad E (7X - 3) @jes aiflel
(i) 46 (i) 49
(iii) 52 (iv) 45
(b)) X oM 80} (HAaSI® 210TWOHF MVoEIAI®I AlEOEMo 21)QINS HMHIS)AN)AM] :
fx) =3x%,0<x<1
E(X) 3 afler a:0sm)e. 1+2)
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10.

11.

12.

13.

(a) Choose the correct answer :

The mean and standard deviation of a normal distribution are 15 and 2

respectively. Then the mode of the distribution is

i 15 () 13

(iii) 17 (iv) 10

(b)

Let X be a normally distributed random variable with mean 8 and standard

deviation 4. Find P(10 < X < 15) 1+2)

A random sample of 100 tyres taken from a population of tyres has a mean life of
15500 kms and standard deviation 1245 kms. It is claimed that the mean life of the

population is 16345 kms. Test the validity of the claim at 5% level of significance.

A farmer wanted to study the effect of 3 fertilisers on the yield of a crop. He divides the
entire field into 15 plots and used each fertiliser at random to 5 plots. Part of his

calculations are as follows :

Source d.f S.S MSS F Tabled F
Between fertilisers 2 — 95 — 3.88
Within samples — 140 —

Total 14 330

Complete the table and test whether the fertilisers differ significantly.

In order to determine whether a production of bronze casting is in control, 20 samples

of size 6 are taken. The values of sample means ()‘c) and range (R) are computed for

each group. The following details are obtained :
2Xx =62.52 gm and ZR =0.18 gm.

Compute the control limits for X chart. (forn=6, A; = 1.410 and A, = 0.483)

SY 32 6



10. (a) VIGIVWOW DAMVo HDOHETINNS)OHTSTNLIENE

80) ¢MIBA@ Al®EEMETOG AIWYe, AVIMWEWABW AUlallceum agyavial
L@ M0 15, 2 agyamilaiosm. sn allmesmarsiland caoavlead allel
(i 15 (i) 13
(iii) 17 (iv) 10

b)) X o (H20a0l® al0olem al®oeme 20wl 8-90, AVIMEAWABW
aSlaflcarm@ 4-90 @R 80} eMIAA@ allmosmadem. P(10 < X < 15)
OGN, 1+2)

11. swo@@)es auacyleiad alanp 100 s@O®810s 80) @a0adl®  aqvomilud
al@leuooWla |@I@3 MlaM)o SWOIBRIOS K000UaEl @RYWIBeNBA2LIHL 15500 &l. dlgoy
aquomeawdaw’ adlalcanad 1245 @) adlgol aan’ el€la)). af)INO@3 SOO)BRIOS
(0EOVOA] @RV 16345 Bl. AQOOEM ag)MNAIGHOUDOR[SIAN]. DD @RAIGBIWAIEBo 5%
SluTlablenmay @EIGTHIG3 alGlEudIWlEe)w:.

12, ;man’ aigemdd 80y womiemilend olgal@d alen@man (@ IIAIODID G0) dbGaH®HN
alom aflcwades)am). GRWIRB @REG allgelo 15 eqjog)Bs0w]l Gilalajalm
CUaHo  (HAVaOI®RWV] O®ORIINSITM 5 Ealox)dEIos alleoe 80600 AIgalp
(1c@OUIlENM).  @REZaODTNNNG  HEAMINDISENDSIOR! aflel BIWEBUE ®IOY

OHIS)HENIN)
GaO®)) d.f S.S MSS F F a3 esenili aflel
QIS8R ®aal@d 2 - 95 - 3.88
omil8) 8030 Oas]©3 — 140 —

@YD 14 330

algld®  anBomlosIOGIM  GUaHo QI8EBUY @aAl@3  ALOEAIW  AIYMLOAVo
DENROHWAN alGlGUOOUSIHN ).

13. 80) e®m-el MI@2n06rmM (DI M EO»6M afllewmnocsmo a)am’
al@lcuoWlenmM@IM aleflajo 6 @R 20 MLIMABHUWB «IBlCUIWIBNI). BICOD
qvomilglend@)o vdOVOE (%) @p e0@emip (R) @ene)asleeam). @ealolcd alan)o
21)Q1OS 30S)H9)M ailaioendd f1Elaaam; :

XX =62.52 (0%, 2R =0.18 (N2
X 210851003 MO alBlWIBHUB BHeng)allSla). (n = 6 @rdemIord A, = 1.410,
A, =0.483)
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14. Construct the consumer price index number for the year 2015 from the following data :

2014 2015
Commodity
Price Quantity Price
A 25 16.0 35
B 36 7.0 48
C 12 3.5 16
D 6 2.5 10

Answer any 5 questions from 15 to 20. Each carries 4 scores.

(5 x 4 =20)

15. The scores in Accountancy and Statistics of 5 students are given below. Calculate the
co-efficient of correlation between the scores.
Scores in Accountancy : 17 47 23 48 35
Scores in Statistics 40 45 25 45 20
16. (a) Choose the correct answer :
1
J (x—1Ddx= .
0
1 -1 (i) -5
o1 .
(111) 5 (iv)
. . o 500 )
(b) The cost of manufacturing x items is given by C(x) = 20x + —~ 12. Determine
the minimum cost. 1+3)
SY 32 8



14. 2015-6£1 DaIcIBH®Y aflel MV)alld: a)010S ATElEAN AWIQ DalcWOUTla] HOEMD

2014 2015 oe1
Q%(ﬂ)o
allel @psai’ ailel
A 25 16.0 35
B 36 7.0 48
C 12 3.5 16
D 6 2.5 10

15 2)®@3 20 190W8S ¢21034SG3 aBO@BILN 5 af)INOTIM DCMOOALI®)c>.

4 (s(g))oé afloo.

(5 x 4 = 20)

15. 5 #)5aBs60 @paoDmMeadailoe  auogladflaailmpe el€la) GmMIO)RHUB 21)010S

ODHSIHNIIM). GAPON)HH U3 AAILNSB MV OMIMDL NMIEo BheNE)a 1S1H9)D>.

@RAOVMEMaVIRloe! cIPIOBU3 ! 17 47 23 48 35
auodladlaailen capo0):ud 40 45 25 45 20

16. (a) VIGIWOW DAMVo HDOHETINNS)OHTSTNLIENE

1

f (x—1)dx= .
0

i -1

(iii) %

(ii)

(iv)

1

500
(b) x epmemnUB MIBoAlEMM@IMEs alteial’ C(x) = 20x + —~ 12 @ryem. agQalo

)OO alLIQT HOEM)M.

SY 32
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17. (a)

(b)

18. (a)

(b)

Choose the correct answer :

The probability distribution of a random variable is

e—2 X

fx) = x=0,1,2, ...

x!
The variance of the distribution is

(i) e? Gi) 2

(iii) 2° (iv) 4

10% of the items produced by a machine are likely to be defective. 5 items are
selected at random. Find the probability that

(1) 3 items are defective.

(i1) at least one item is defective. 1+3)

Choose the correct answer :

If X is a random variable following Normal distribution with mean p and variance

X _ 2
o2, then the distribution of (—G*ij is
(1) N(,1) (i1)) Chi-square with d.f. 1
(iii) twith d.fn (iv) Chi-square with d.fn

A population consists of the values 8, 9, 13, 15 and 16. Write all possible samples
of size 2 under SRSWOR and find the mean of sample means. (1+3)

19. Let X, X,, X;, X, be a random sample of size 4 taken from a population with mean p

and standard deviation . The following are two unbiased estimates of p :

T, =

_X1+X2+X3+X4

2X, +2X,+X;

5 T2=

4 5

Find which estimate is more efficient.

SY 32
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17. (a) VOBIVWOIW DTNV HDMOHENNSIOHDTNLYDB>

B30} (BHA0a0IB 210THOMG MVoEIAIYMO AlGOMo OOY HBHISIHNAM) :

-2 7x

o) ="—=1x=0,1,2, ...

x!

g0 allmoesmamlong caldleaday’
(i) e? (i) 2
(i) 2* @iv) 4
(b) &0} @@ Mldxly] cvowmemgl@d 10% agemo @ GHOI0)BBIBHONNE. 5

aLOWMEIRUB @)OGAU@_ﬂc&QOCKD ®OMEINIMSITID)). @Y  alOWIMMNAIW)INS

MVOEROAIY® 061N
(1) 3 af)IROTVIM OBHI0MBIB0MBS

(i) 80} afaNTTIOMELILNo DBHOO0RNEOBHIMBB 1+3)

18. (a) VIAIWOW DTNV HMOHENNSIOHDTNLYDB>

X ag)aM HA0aGI® aldo DOWYe L, CAUBIWBIV 62 ag)arlaII® B0) CMIRAGI

X _
Q@M LI1066M B3 (—GEJ @crg all®moemo :

(1) N(,1) (i) d.f. 1 enw eed-apad
(i11) d.fn et (iv) d.fn @R 66&-0I@A

(b) 80} acylleel @ronend 8, 9, 13, 15, 16 agyarilai@osm. aleflajo 2 @R

SRSWOR aquomil8)@8)o ag)9)@l avomilud mowiems)es mowlo &0emMd. (1 +3)

19. 20w 1, quoadeandaw eflalcaua 6 af)arlaII® B0) TVAHSIVIE3 MlHaMS)ED
aleflaje 4 @R B0} (GHAOOI® avomilsoem” X, X,, X;, X,. ®0¢ alo@)amal
u-aiload oame’ @REMMIR VS af) PUlCAQ)BHS06M

_X1+X2+X3+X4

2X, +2X, + X,
T, = n = .

) T, = s

DIV aB® af)TUIEAGIMIM B3)S)D@B af)atlat BTVl DSB@ ?
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20. Find 3 yearly moving average from the following time series :

Year 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017
Production (tonnes) : 60 72 75 65 80 85 95
Answer any 2 questions from 21 to 23. Each carries 5 scores. 2x5=10)

21. (a) ‘Fisher’s index number is the ideal index number.” Write any one reason to

substantiate this statement.

(b) Calculate Fisher’s index number from the following data :

Base Year Current Year
Commodity
Price Quantity Price Quantity
A 2 40 5 75
B 4 16 8 40
C 1 10 2 24
D 5 25 10 60
(1+4)
22. (a) Choose the correct answer :
Seasonal variations repeat during a period of  year(s).
i 5 (1) 1
(i) 7 (iv) 2

(b) The following data shows the yearly sales in thousands of a commodity :

Year

2010 2011

2012

2013

2014

2015

Sales

60 75

81

110

100

120

Draw a trend line by the method of semi average.

SY 32
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20.

21)016S @AIE1HNIN HORICUHIMIWIAOS 3 aldau Milow) YOOV GO :

QlBaHo :

2011

2012

2013

2014

2015

2016

2017

©e]08Mo (Sel@3) :

60

72

75

65

80

85

95

21 2)®@8 23 AOOV)BS ¢21084BEI8 aBO®BIENS 2 af)INOTIMN 2OMOHAY) @),

5 capod afloo. 2x5=10)
21. (@) ‘adlen0lo@ aL)alld GROREMANIW B0} ALY ld:@IEM.” OV (AITVIAUMOW
TLOWYBAlBNNMMBIM ABOMESIEIo BO) HIVEMo Af)PYMI.
(b)  21)016S OBOS)EBNAGN)AN WIQ DalcWOWla] ableatdloal aflel av)a le &oem)d :
@RSINIM QIGaHo MSa]} 0IG@aHo
aVLIWMEIBUD
ailel @RsOl ailel @psai’
A 2 40 5 75
B 4 16 8 40
C 1 10 2 24
D 5 25 10 60
1+4)
22. (a) VIRIWOW DTNV HDMAHETNNSIBMNE> :
MSlavem@3 QI@IOIMEIBUB @RYAUBGTIN BN QIR HorIsOilelosm.
(1) (i) 1
(iii) 7 @iv) 2
(b) 2nAIeS OHBISIHMAM alSld 630) MVOWMETINE QPAHID allejm (ERElooTs3)
V)a flaflosyam; :
QIBaHo 2010 2011 2012 2013 2014 2015
aflejm 60 75 81 110 100 120
@RAEL YVEOUOA] BlITI DaleWIUTla] B30) AESOE COaI AIOD)H. 1+4)
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23. The scores in an intelligence test administered to 1000 students are distributed normally

with mean score 42 and standard deviation of the scores 24. Find
(a) the number of students exceeding a score of 50.
(b) the number of students with score between 30 and 54.

(c) the number of students with score below 40.

SY 32 14



23. 1000 &)5la039900] Msol@ 630} mijeUlaldlemolod fiEla) cMO0)BHUd 20Wo 42-90
auoadeawd@aw” allaflcauad 24-90 @R B0} cMIBAM AlEEMOTILIEMSB®.

@I6¥ alOWIIMNAI H6eNB)allSIee)D :
(@) 50-@3 @)5; @3 ¢MPOA@ 1€l $)SIBB)OS ag)sio.
(b)  30-myo 54-Mjo SWI@3 cMPOAB LIEl2] B)SIBBIOS af)elPo.

(c) 40-@3 )06 MA@ LIEls] B)SIBBIOS af)elNo.
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Answer any 12 questions from 1 to 13. Each carries 1 score.
1. Ability to organise and monitor our own behaviour is known as

(a) Self-regulation

(b) Self-esteem

(¢) Self-evaluation

(d) Self-monitoring

2. Daily life events leads to personal stress is known as
(a) Traumatic events
(b) Social stress
(c) Hassles

(d) Environmental stress

3. Low activity of which neurotransmitter in our brain lead to depression ?
(a) Dopamine
(b) GABA
(c) Epinephrine

(d) Serotonin

4.  Rational Emotive Therapy was formulated by
(a) Wolpe
(b) Watson
(c) Albert Ellis

(d) Victor Frankel

SY 33 2
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1 2)®@8 13 219088 ¢a1033BEI08 a@o@Bslens 12 aflaNOTIM 2OMO0 af))®)d>.
1 capod allo. (12x1=12)

1. ©a10)20Qemes qui@o MBlaHle9oMe MOPEHIMMBSB H¥lal” GROIWEeA SN
(@)  BOAVIaO-EOWCEIHD
(b)  erVBBan-aIlo
() OIVTIaN-ENAIEIEAIHAY

(d)  erv@dan-ca0emIgalow)

2. aeol cvandgeieelss mailenam Moy lale qveeala)Bud GrGIWea|S)aNG
(a) @RAIGSHONIW MTLoERAIIBUY
(b) avomadla MVoNA30
(c) PLla0o

(d)  adlcudlol avendge

3. ampHy AMVTlaUODI@ aB®  MYEOSOBAVAQOING  $H)0OIETBIG)EMIOSIETY

aflarosomlcelos Mlamana ?
(a) ewoaloalad

(b)  woeru

() agallomnciad

(d) eavoesoemilad

4. 00aHEM@3 DEAOSIOT O®Oa fl @) lld:@laj@
(a) caWal
(b) alosavend
(c) @®MIAS agflay

(d) all®ad @ooerdd
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5. Individual work less hard in a group than he work alone. This phenomenon referred as
(a) Social facilitation
(b) Social loafing
(¢) Social competition

(d) Social inhibition

6.  The two-step concept was proposed by
(a) Festinger
(b) Carl Smith
(c) S.M. Mohsin
(d) Heider

7. ldentify the characteristic which is not essential for a counsellor ?
(a) Authenticity
(b) Sympathy
(¢) Empathy

(d) Positive regard

8. Identify the social support in the form of Material Aid :
(a) Informational support
(b) Emotional support
(c) Tangible support
(d) Moral support

9.  Picture-Frustration study was proposed by

(a) Morgan
(b) Murray
(c) Eysenk

(d) Rosenzwing

SY 33 4



fl@d  (@I0Idollenemdd 89 (e IAIACIENMBIOMENIUB B30T
SHOVIAHUAD® BHOPal QIYWIAN). DD MVoAlo BROIWE|S)AN®

(@)  €IVOaH|@3 Oanmlellegauad
(b)  BMVLOAH@3 CEIDEloWY
()  GAVOAHD3 CHOMIGIAHT

(d)  erVoaH @3 eNMBadlenila:ad

Blaeise ailEvdamo MEANIT QAla @
(@)  ©anqUladesd

(b) oUW avaloD

(¢) S. M. emaoaiad

(d) ea0©aA

069 ®MIClE9M@I@3 HVeMAVIRIBH9 @RHAIVDIAILIIBED 1Mo aB® ?
(a) @RWIGHIBIBH®

(b)  aLVaO®Oalo

(c) auanom)e)®

(d)  casomiiglal’ dlnodaw’

OB TVaNIWOITIIENSS AVINJAOY TVaNIWo WG|
(a) allaie aflamem

(b) ©6QIB0C B allamiem

(c) ole20w allamem

(d)  wodenild aflamemn

2 {l(@EBB)OS CGAIaOEW) alOMo MEANIT Qs |
(a) ec2dN

(b) meo

(c) ©ageaLABE;

(d) cooavadafewy
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10.

11.

12.

13.

14.

15.

16.

17.

18.

10 to 13 : Match the following. Each carries 1 score.
A B

Primary Mental Abilities

Spearman

Structure of Intellect Model Louis Thurstone

J. P. Guilford

Multiple Intelligence

Two Factor Theory — Howard Gardner

Answer any 4 questions from 14 to 18. Each carries 2 scores. 4x2=28)

Explain any two sources of psychological stress.

Attitude is a state of mind. Identify the features of attitude.

Identify any two actions promoting pro-environmental behaviour.

Distinguish between the advantages and disadvantages of observation.

Discuss different stages of group formation.

SY 33 6



10.

11.

12.

13.

14.

15.

16.

17.

18.

10 - 13 : Gal@)oals] GalBE9)d. 1 capod allo.

af) enil
06120l ©A3@3 agynilefglay’ - (Vall@nomd
TV(SHa@ B0 HAMBOSLISQ CAWDEI - endlav @3guend
2dslaflud spadeilogaday’ - I P. Vl@dcanodan
3fleeIss avlevoamo - a0QI0@aW 1OBWMA

14 a)»@3 18 2160@)B8 €103 08 ago@i1el)e 4 afANOTIM DOMOo af)H)®)d>.
2 capod afloo. “4x2=8

20Nl MLondgoeiland esme @oallsemnud alluodlaelee)d .

2O 60} GRAITLAWOINT AGMOBIA. ACMORIAUTTHOM  (ICMIBHODHOB

@102 O],

alBludl@ll AVVa0dd3 ©aID)AIGOTD E(nI0BTVIACla{ldn)IN EENE (IAIBGM MBS

>6)6TIBOI0)) .

MBlaHeMODIOHE CAMBSB)0 Cald0IQDB)o CAIRBGIGIO)®)H .

o] O)llaeemadiand allailw ~eIgeEBud al@a] OalQ)d.
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Answer any 4 questions from 19 to 24. Each carries 3 scores. 4x3=12)

19. There are different ways to reduce anxiety by distorting reality. Evaluate.

20. Behaviour is specified as abnormal with respect to certain features. Explain that

features.

21. “Rehabilitation make patients self-sufficient and become a productive member of the

society.” Evaluate.

22.  Group satisfy a range of needs. Do you agree with the statement ? Comment.

23. Discuss the different views about causes of aggression.

24. Evaluate the specific skills and competencies of a Psychologist.

Answer all questions from 25 to 28. Each carries 4 scores. 4x4=16)

25.  Stress affects our psychological functioning and health. Critically evaluate.

26. It is possible to classify Individuals with respect to their [.Q. If your answer is yes,

Explain.

SY 33 8



19.

20.

21.

22.

23.

24.

25.

26.

19 2)®@3 24 1190W)BS a2 1083BSG3 aBO@ESIL1)0 4 af)INOTIM DTNODAY®)h.

3 capod all@o. 4x3=12)

“aflollw Palowlaglenns INIAMOIEIROS AI862J0Sla] DOGHEMO GHOWIOE.”

afleifo)orm)ds.

©al0)A9go @RAVIWOVEMHAMN (IMPVANENIND) 2 el (HICM IBHMBBIOS GRSITLOOM-

OIIELI061D. (AICD @ DUB AflUoElB0lH0)d.

“anmowlanae  coOUlGHe8 TUIWo  aldyPgl0l TVMEOBTIIGE  UIEMaNLIEBUB

DENBOHNAN AU BR)YAHNMM).” QeI 0)BIm)w:.

W] allallw @RIEBeS o BOBl;:Ele9M). MIGBUW MY  (ITNIAIMEWIS

cOEHl¥e)aM)EENED ? @RE](RI0Wo CORINA|S)OI ).

@RY(HAEM TVIRIQAICTHIONG HOEMEBOB H)Olafiis Allallw &09ala]oS)HUB al@a)

21D

2AM:VO(MVLADNN (DD HFIANDR)o CRINIDHB)o AlleIl0)TT)D>.

25 2)®@3 28 0160W)HS} af)LI0 Gal1IBIEIBIBAN)0 DBMAo af) )®)d>. 4 caAPIA@ all@o.
4 x4=16)

20MaVld ALINABGo BRYEAINIETNWIo AIMAV]B: (AIAIRBTIMEBEBW)o AVIOUIMI-

8)M). Afla@udMOGLB0W afleI)Em)d:.

ayemlGHes 1Q @eslaunom@d@d  caddalendmd avowlemend ? mlans)es

DOTMM0 ‘BROD®’° af)aNIEEMESIME3 AflVdElBG1B6)B>.
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27.

28.

29.

30.

31.

“Performance on specific tasks is influenced by the presence of others.” Critically

evaluate.

This condition can be viewed as severance of the connection between ideas and

emotions. Can you identify the disorder and its different conditions ?

Answer any 2 questions from 29 to 31. Each carries 6 scores.

Compare different type mood disorders and their symptoms.

Explain different Trait Approaches of Personality.

Explain different behavrioural techniques used in behaviour therapy.

SY 33 10
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27. “age8010)0s qVodlalle (@IC®D (IQIBCMEBSIE3 QAIGDTIWOS (O IHSMEOTD

avpWlmleman).” allad@umocaa:n0] alleiw] o)),

28. mouangl alldooanzse @eilenss  ©aloQ)OmAlLo)  HM  @RAINLOWIES
(ICDIGOWOEM. D oAl @@loa allolw  @eAITOG@)  TleEBud

D6)6IIBOI0)) .

29 2)®@3 31 AIPOW)BS €2 10333 aBO@BIEL 2 afEANOTIM DAMOo af)HL®)D>.
6 capod all@o. 2x6=12)

29. allallw ®oowlenss maw Wwleaodano)d8lo GRAIIAS LIGHMEBSle MIODA Y0

OalQd.

30.  aleoloiemilend allallw moeomlenss 6sq avdlaimendd alluodleclee).

31.  milcanail@d 6®0dafl@es aflailw @ memnud allvddleclee)d .
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Answer all the questions from 1 to 5 : (Total = 20)
1. Choose the correct answer from the given alternatives : 4x1=4)
(1)  Who wrote “Sare Jahan Se Achha Hindustan Hamara” ?
(a) Rabindranath Tagore
(b) Muhammad Igbal
(c) Rehmat Ali
(d) Mohammad Ali Jinnah

(i) Who was the Director-General of the Archaeological Survey of India at the time

of discovery of the Harappan civilization ?
(a) R.E.M. Wheeler
(b) S.N.Roy
(c) John Marshall
(d) Rakhal Das Banerji
(i11) The Mauryan emperor who is known as “Piyadassi”.
(a) Chandragupta Maurya
(b) Samudra Gupta
(c) Bimbisara
(d) Asoka

(iv) The native kingdom that was called “the nursery of the Bengal Army”.

(a) Awadh
(b) Kanpur
(c) Delhi
(d) Jhansi

SY 34 2



1 :)®@3 5 2160W)BH af)E10 G213 ETBUBEN )0 DOMOOAYI®). (Total = 20)
1. anates meileidles)mai@led mlame val@)Eme H@EHETMSIOODVI®D : (4 X 1= 4)
(i) “aVo6 Ra00MB GAL @RI a0IMBYTVNOMR a0NIQ” af)PITNV® G@R/YO ?

(a) omilmBmoln'soenId
(b) 20003 EDB6ENIOGI
() 0aORED @RIl

(d) maoomad @rel elan

(i) @008 TVAPOVHBD HATBAMEMIIUD @ABYABASICWIBEASNT TVBEAI Ban’

DI JW)OHS WROHAB-2RMOTS @1RY@)M) ?
(a) ©RA.6D.af)0. alleid
(b)  af)IV.0f)M. €00
(¢) =063 MOBaHDI
(d) ©aIm3 RO enIoMmAeE]
(i) “afl@Budl” ag)MOlWea|SIOYIM AV} a1(BHAIBT.
(@)  al(BW)e] 2o
(b) avmB W)l
() enfloenilavooad
(d) ®PREUIHND
(iv)  “eniotoud HOTLMIGTIOHAZ MYaVAL” ad) N AflFlEnea]Sle)aM M05)0083)0.

(a) @oalw

(b) @0endand
(c) awadaol
(d) owoamdal
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2. Match column ‘A’ with appropriates from column ‘B’.

(A) (B)
Alvars “Vachanas”
Nayanars “Abhangs”
Virashaivas | “Nalayira Divyaprabandham”
Sants “Tevaram”

3. Arrange the following in chronological order :

(i)  Abolition of slavery in Travancore

(i) Malabar rebellion

(i11) Pazhassi revolt

(iv) Kundara proclamation

4x1=4)

@4 x1=4)

4.  Find the relation between the two parts of item ‘a’ and fill in the blanks of item ‘b’

Buddha attained enlightenment
Buddha gave his first sermon
“Great vehicle”

“Lesser vehicle”

Amaravati Stupa

Sanchi Stupa

Zarathustra

Socrates

accordingly :
1) (a)
(b)
(i) (a)
(b)
(i) (a)
(b)
(iv) (a)
(b)
SY 34

Bodh Gaya

Mahayana

Andhra Pradesh

Iran

@ x1=4)



2. ‘af) cHO8OIM GRMEIRINIQAI ‘enil” CHISEHI@3 MM HENBAIHI af)9)®)d:.

4x1=4)
(a9) (enil)
@RYYQIOARNOAB “Qlalmeud”
MOMIB?AIA “@REoU)®>UD”
afloesvoaimod “Mmoe1lo dlalyelmiawe”
L) BHUD “CmQI000”
3. ®oe¢ ®aMIGlENIMAIH GHILINEMM (HADTHIG3 af) LI®)D : @x1=4)

(1)  ©@0)l®0&3:)01@3 @RSIAGe MIEEIWIBAM)
(i) 2e1mI0@ &Heldalo
(i) a19ydl ®L1alo

(1v)  @)ene0 ail8osmioo

4. (a) alleov oot me 0waBUd Manlensss nimwoe aMElengs] @e@)ealoee! (b)

afleowo aly@la oo : @x1=4)
(1) (a) enpERLM CMNIOEWIRW. EIEla @ T GeNIDW VW
(b) MNELAB BRYBY (AIBIAHEINo MSATHIV @
(1) (a) “aeloaldaoms” © 2a00@OIMo
(b)  “©a10l® Q19a0Mo”
(ii) (a) @P2AEAIGI AV)alo D @RY(MWO (aICBUD
(b) avoemil qVialo
(iv) (a) aLO®)H(S : enOom

(b) eaVO@SIaV
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10.

11.

12.

Identify the following places related to the Revolt of 1857 and mark them on the

outline map of India provided : 4x1=4)
(i)  The place where Begum Hazrat Mahal led the fight against the British.

(i1)) The place where Nana Sahib led the Revolt.

(ii1) The place where Kunwar Singh led the Revolt.

(iv) The centre of the revolt where Rani Lakshmi Bai assumed leadership.

Answer all the questions from 6 to 12. Each carries 2 scores. (7x2=14)

Point out any two objects that indicate the religious belief of the Harappan people.

Name any two literary works which are used by historians to reconstruct the history of

the Mauryan empire.

Describe ‘Ziyarat’ and ‘Qawwali’.

Write the difference between ‘Jama’ and ‘Hazil’.

Why the Zamindars defaulted on payments ? Write any two reasons.

Chandran Devanesan has remarked that South Africa was “the making of the

Mahatma”. Do you agree ? Why ?

After Champaran Satyagraha Gandhiji involved in two Satyagrahas in Gujarat. Which

are they ?

SY 34 6



5. @6y ®mlalemam 1857-ae1 Hei0alaad®] mINWeals MUOLIEBRUY HEMEOI)
EDE®I6SOa o MENWVIFI8] HIMJWAS 0)nI1COMWVIT3 @RSWOBHQ|S)TMD, : (4% 1=4)

(i)  enflvo a0ELVE MNaO@3 (ENASlaHRHIBNBOTIEIW  EaldEISTTIM EM@I®Io

mgil® auoelo.
(i) MOMO AVVAOIENT BHLIVAITTIM CHBYDIo MEN® aAVOLlo.
(iii)  @6eMaIB Mlot) HLVIBTIM CH@Y®Io MEN® auoLlo.

(iv)  00em] 2182121l NIV CH@ DI ABOYSIT HEIal CH(Bo.

6 2®@3 12 0160W)B af)LI0 Gal1IBIEBIBAN)0 DTMONAY)®)d. 2 GAVIA allo.
(7x2=14)
6. a00aB V/OOWOS AGANWPAVEEa|Fl AV}IM MENAN RO LI  eNE

al)EOQIMNANUB 2 NNEIANETIOD)D>.

7. 2M0} motmoa5m1a<@ 21B(@O  al)MAMIBAH6)010MIW]  21G1(@DH00mOB

DalEROUIENIM aBO®EIENO ME (NMOBBIOS CalOOYI®)D.

8. ‘rdlooo®’, ‘euaioedl’ agyamial allaidled.
9. ‘m’, ‘a0aVl@d’ ag)amial @edlenss aly® Vo af)P)®)d.

10. ool ees@am@l@d  eavdlodaod  allval  alo)eBlemamOBHeEe  ?

ARBO@ELIENo OME BHOOEINEIRUB af) P}

1. “@200002 VITWIO® 0)a10a]|S)OTN@®  BIMleMOEOlGIWIEN.”  a)dn  al(B3
CBAIEMWM  (alquoaflesym).  dlendd  @Elemos  cwosleeyaMmeied  ?

) NOB6NE ?

12, 21M1006M AVPUNOBTIMIENHo NOMWIEA 1RO EENE TLMI(NaOGBEI3

AlOBS)O). GROI aBO@EJ0 ?
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13.

14.

15.

16.

17.

18.

19.

20.

21.

Answer any three questions from 13 to 16. Each carries 3 scores. 3x3=9)

What are the limitations of inscriptional evidences ?

Summarise the central teachings of Jainism.

Analyse the importance of trade in the Vijayanagara empire.

Write a short note on Cabinet Mission.

Answer any four questions from 17 to 21. Each carries 4 scores. 4 x4=16)

What are the elements that are to be considered by historians when analysing texts

like Mahabharata ?

Analyse the features of “amara-nayaka” system of the Vijayanagara empire.

Describe the role played by women in Mughal agrarian society.

Compare the “Permanent Settlement” and “Ryotwari Settlement” introduced by the

British in India.

Prepare a short note on Sangam Society.
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13.

14.

15.

16.

17.

18.

19.

20.

21.

13 2)®@38 16 2160V ¢2103 S0 aBo@EHIEN0 3 af)INOTIM DOMOOAYL®)c:.

3 capod aflow. B3x3=9)

uwlenellalo omslanss)es aldlaleleud af)ea»Ieeawosm ?

HORM DOTTIOH 261§ DDITBUD 2 NO}ANNOWYI®).

all2@MUNE MO@ILYOTIOL! Q1§00 I0DTINNG (IOWOIM o AlUdGHLIMo HalQ)d.

> nimg’ alaterMme9)Glaf B0} 0a10) HI01OQ|9)D)D .

17 2)®@3 21 2160088 ¢2103 S0 aBo®EsIEN0 4 af)INOTIM DOMOOAYL®)c:.
4 capod aflweo. (4 x4=16)

Da0dRIOMo  GaldeNss (NMNEBUY AllVGEIMo  §alQIEMIIUD  2IBl(MHIOMIA

alBlVEMICARNENE CLISHEIBUD af)HANEII0 ?

afl2E®M®NE MOE@IRITTNOL! “@RAO-MIVG,” TAllWIMETOHE LAV YD

Allvo®RIMo 612191

MNRB BOBeHB> TVDYOTTHIGS (U3 AlaOlaflO)M alsy AllUoBAHe)H:.

2 (13

(ENNGla1)3,08 MG MSafleneslo “voovd® @)Mla )@l aljainun”, “owsga1nal

aV(MIBIWO” )AL GOADA Yo 6)21Q)).

MVoLIGHORI MVAJOHDTNENO2] 630) B)Gla| BYI00HN)D .
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22.

23.

24.

25.

26.

Answer any one of the questions from 22 and 23. Which carries 5 scores. (1 x5=15)

Accounts of Ibn Battuta provide a clear picture of the medieval Indian cities and

slavery system. Elucidate.

The Revolt of 1857 was particularly widespread in Awadh. Analyse the reasons.

Answer any two questions from 24 to 26. Each carries 8 scores. 2x8=16)

Analyse the features of urbanism in Mohenjodaro. Areas to be considered :
. Drainage system

. Domestic architecture

o Citadel

° Great Bath

“Chronicles commissioned by the Mughal emperors are an important source for

studying the empire and its court.” Based on this statement explain the following :
o Stages of production of Chronicles
o Akbar Nama

) Badshah Nama

“Mahatma Gandhi transformed Indian National Movement into a mass movement.”

Substantiate the statement on the basis of the following hints :
. Non-Cooperation Movement
. Salt Satyagraha

. Quit India Movement

SY 34 10



22, 23 ¢a1033eBgl08 a@o@eslels 1 ag)anomlmn’ 20mesa9)®)d:. 5 ¢IpIa.
1 x5=5)
22, 2ELYGOL! TN MUNOEBOSHNCaflo GRSIAGIN ATVMUBIVWEODNBNOla]jo sNMIM
MICTH@OS AlOIEMETBUB QIYBGMAIW ail(@o MEAMENE. AVLOW)BHGIHN)D.

23. 1857-ee1 &El0alo  GRAIWILIENN  (@ICDIGlajle QIPAIGHAIVD.  HOOEMEIBUD
Allvod®RIMo 612191k

24 a)®@3 26 Q1HOW)BS 21034808 aBO@EIEN0 2 afIINATIM DTNODDO) D).
8 capod afl®o. 2 x8=16)

24, e@06a0M622060c00W0RI  MWOAILIEIMETOE  MLANCVH®DHUWB  allvodelimo
621Q))d. al@lWETICHNMNE CAILIRUD
. @RY)HN2 1003 TVoANlWIMo
*  1IBadl® amyailay
o GHOg

. alello @)gEla)jo

25, “m0nUd  0OROSHMONIOS HL|M(AIMIDo af9)®als AN AIYOMITNEBU?B MUNUB
MLI@IROTMENCalo MWD  EIRWIMIOVWENTajlo  alClEMMMTIMSS  B3)
(@1WOM cs@momongoam“.” DD (aIQROQIMWNS @RSINLOOIMOBI@ 2 1)QUOS
@aldlenmal allvblaclame :

e AlMAIOMOTNEIBBIONS WB2N06M ~LISEBUB
e @RGMIG MO:

° 6NIOBaY MOD

26. “@a000m0 VWOMW] HAMYMB GBUTIW (ITLOIMATD 60) MIaOIRM (IAVOOMAOASH

20gl.” alales @MIBENMMN AV IHEBBOS @RSITVOOIM@TIT3 DV (ITVOAIM
QWlGIOTa]Feo) e

° mW(Roooe)coam (INUNOMo
° Da| TV@YONa00

e &AM (ITVNOMO
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ECONOMICS

Maximum : 80 Scores

General Instructions to Candidates :

3308010396 B3 ) 12@))MIBCFI060BI3 :

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.

MBGley TLA@GTIM ajoea 15 AlMlg” ‘@B Boa0 ©6Se” DENOWIElEe)o.

‘@B B0aD ©6S0’ CaldBYEIBURB al@lalWea|SOMo DBMOGBUY  BRYAVY@EMo
£21Q0M)o OalGWIUIHN)D.

DTMOBBUB af)$IIM@IM D)MNU GalOBEIBUD UYIELIANBQ o AIOWBHEMo.
WIBE3UEBU3 MI9IQIM)o UIRBLIABY o AIOWBHEMo.

BN 3SENDHUB, al(@BURB, N0aD)BHUB, ag)avial DOMOCala|dlo8 @eaN
DMROW1GleseMo.

Cal0BYEIBU3 DRIWIgOIeNe Mailwigere.
@RYQUUDIMBS TLOLIDIT TVAQUIDYEIBUD I3HIS)BNEMo.

CDUOMBDHUB  §2IQOMIBHITD  HOTISNCLIGOHUB  BFlOHWBR  B0)

EDRIGESIEM] D Daldh0eMAle al@ld0a0dEI@3 DalcOIWlH9AIE aldSlg).

J
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1.  Match the column B & C with A : 5x1=5)

A B C
General theory of employment CRR Equilibrium output
interest and money
SLR Effective demand USA
AD = AS 1936 RBI
Public good 1929 J.M. Keynes
Great depression Defence Roads
Qn. No. 2 to 6, write the correct answer. Each question carries 1 score. B x1=5)

Change in output
Change in Input

2. Write the economic term of

3. Petroleum refining and marketing in India is the closest example of
(a) Monopoly (b) Oligopoly
(c) Perfect Competition (d) None of these

4.  Inan open economy, if C = 0.7, m = 0.2, calculate the value of multiplier.

5. Inacentrally planned economy all major economic decisions are taken by
(a) Market (b) Government
(¢) Private Producers (d) None of these

6.  When the existing price is higher than the equilibrium price
(a) Market demand is higher than market supply.
(b) Market supply is higher than market demand.
(c) Market demand is equal to market supply.
(d) None of these

Answer all questions from 7 to 11. Each carries 2 scores. 5 x2=10)
7. The supply curve of a firm depends on many factors. Point out any two.

8.  Differentiate between Balance of Payment (BoP) and Balance of Trade (BoT).

9. (a) Write down two most important characteristics of monopolistic competition.

(b) Differentiate the price and output prevailing in the monopolistic competitive
market with that of perfectly competitive market.
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A c2086001 GRSITOIM208s B, C ¢2086m03 (30ld@la] ag)91®)d>. B x1=5)

A B C
2M003 GOl 3000 af)oCaloWend | M GrE @RA avamefllemoaiaun
EDABOAY @RI A6l
af)aV af)@3 @A QLaNE] GaldBMo | GRCAGIHE
AD = AS 1936 @)@ endl eag)
a0} AT BB 1929 OR. af)o. OBWIMIV’
QIA3 LOMIGTTI G MO0 (IDICOIWo GO UB

2 2)®@3 6 AIHOW)BS G218 46IBUIAH VIGIVWIV OMOOAL)®). 1 capod all@o.
5x1=5)
e|MoIeel 20Qo
Tlealnowlee! a0go

, OO MONUGTD 2 1BOHAYE)D.

I8  ealeSogloonland  10)elleoemale  AflalemMMAlle  aB®) @0
Qfla1eMlOS aBQONe @RSIOID DBIOVEMAE ?

(@) DH)OOD (b) @rejpdlvomio (88lcniealogl)

(c)  aumdem Slsaorvee (d) enaleomME]

830 @0 avmis alaInuneicd C = 0.7, m = 0.2 @reemslad WM Eeaieand aello
BEMNBNIBN) .

830) CHBlB{® @RYAVY®EM qLMUB  AIYAITVNWIG3 (1WOMAa|S ag)Jo AQLOMUDIN B>
@l O)RIMEBB)o af)S}HNIND®

(a) emioso (b)  walndenad

() U0y OalIB®HA (d) ealeomMag)

quvamelo allelss ayslensm mleiailenss aflleinwsslod

(a) HCMIOGB G2l0BMo GHEMUIB (AIBIMEINENIUB H)ISINEINW]BlHN)o.
(b)  HGMUIB (AIBIMo HEMIIB G2 IOBMEANANIUB B3SO0V BlHN)o.
(€) HHEMUIB G2I0BMAI0 (AIBIMAI) IRV BlEN)0.

(d) epalewomMaE].

7 a®@3 11 01905 af)L10 G218 1BUdAN )0 DOMANAY)®)d. 2 GAVIA aflo.

5x2=10)
80) 9203 @PEMIFIOd (IB0M Qldo albl CLISHEBOE @YU afldlanam).
ARO@EILNo OENEEMo 2 NElBN0MIIB6)H.

@RSAl) U3layQllo, QILYAII0 UTlayaljo MAATENSSH QNG OTVo af)S)OTTNOI®):.

(a)  BOVRIUHTI® AOTVO HEMIOSTTHIOHM OMNE TVANCUOHDDHUB af)SIOTTNE)® ).

(b) @OPBOWHOI®  2AGLE  BeMPBOBICLIV)  qVM)EaDR  SHlSAGILO
SHCMIOBOTICRIV)e Afleldd 92|aMeEBUd af)arilal @olenss alymPaLEBU3
af)S)ODNOYO)).
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10. Beginning on 15 August 2018, severe floods affected Kerala due to unusually high
rainfall. The state government has hiked the excise duty on liquor and by which, it is
expected to raise revenue to ¥ 750 crore. Suppose the MPC (Marginal Propensity to
Consume) of the same product is only 0.8, then calculate the tax multiplier and its
effect on income.

11.

(a) Complete the given diagram.
(b) Mark the real flow and money flow.

Answer any 6 questions from 12 to 18. Each carries 3 scores. (6x3=18)

12. In the open market, the price of rice/kg is ¥ 35. Assume that the poor people cannot
afford to purchase rice at this price. To protect the poor people, the government decided
to offer rice at a minimum price of ¥ 2/kg through ration shop. Identify the economic
term of this situation. Draw a diagram to illustrate this.

13. Paul A. Samuelson used the concept Production Possibility Curve to explain the
economic problem of a society. Draw the Production Possibility Curve on the basis of
the given schedule.

Possibilities Wheat Machine
(in lakh tonnes) (in thousands)
A 0 15
B 1 14
C 2 12
D 3 9
E 4 5
F 5 0

14. Indian Rupee has been on a free fall since past few months. Rupee has lost more than
20% of its value this year when compared to last year. In this context, identify the
important factors responsible for such a flexibility in the exchange rate.

15. Prepare a short note on the concept of speculative demand for money with the help of a
diagram.
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10. 2018 mwgg“ 15 2)®@3 6alQ HMOOD A9A)Llo DENEIWV (IBWo CHOBODTT MHISo
20la)). 750 €0S] @)al @RWIE QI0)AIMo (G GH]2])O)B06ME ABAOTNOM af)HOOTVLAV
@floyal 1WaleMead QW AABHMEIW. (IT® ejmadilead MPC 0.8 aryeeman’
@RM)A0TIE9). af)BH1E8 WBH)B M0, BRG AIOAOMBTILNMEISSIQ A0GANo

DM ENININ ).
11.
2e|23d »oBaold
el caaIel

(a) ©®MIg8s ail(®o al)BOTIWOBN)D.
(b) @OIB®O (11010201 alfM(EIAa0A0 2 I(EDIE3 CORINA|SIOD).

12 2)®@3 18 2160088 ¢21033SE1G8 aBo®&s1E1)0 6 af)INOTIM DOMOOAI®)d>.

3 capod aflos. (6x3=18)
12. ®0) @00 &HCAUISEMITE B30) GICe cpelwes aflel 35 oalwiIssman

@M H9). ald0IEBUWBO D alleivicd @RGE Al0eEBIs KHFlWBEIE]. DI

TVoRBHIINMMDIMCAIME] COnHME HSWILNOS B0} FHICRIBS 0ME O)al WOASIG3

@@l Melom  waldeadd @looadla)). Y GRAITLOWIES TVOMUGTD  alBo

@@, afll@o Q102 AlVdE]B:@1H9)d.

13. 80} 002ee03 TLOMIATIS: (@lgo AllKElGAElENMBIM PLJIBM TVLIW IO
O 10a0TVAB CaldUd agf). TVLOMQIGITVENS OaleoUilalgne. MAMIFBR algld @PMTLAla]
830) PPC al(@o Q10

NI DD cLI®MI QOMEBUD
(R18:Mo SN DHaM AN @3) (@R Vloormo3)
A 0 15
B 1 14
C 2 12
D 3 9
E 4 5
F 5 0

14, olaom >)02)) 2AVEBS8OX] DANIMB B)IWNS MEILo GO AUIGIEBQIEM.
S AUBNHOG @RCaIBHe] 0)IWOS M)EIfe DD AlGaHo 20 VOAIMEBNIBo
B3OWIBHWINEIWX].  D(IBH000, @RANMRI® AlTla®  MEGSIM  BHOEMAIW
QAUTNOHOS AIYADNAOEN) D>

15. onmamsﬂmg DMa0BN|QIS GaldBMEAAN GIRYUOWEHDI) aj(@mk)c@ VANV CTNINS
330} D)0l OYO00H9).
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16.

17.

18.

19.

20.

21.

22.

Suppose the price of tomato per kg. is ¥ 10, Ms. Mittu purchase 2 kg of tomato. If the

price rises to < 15, she buys 1 kg. Based on this information
(a) Draw the Demand Curve.
(b) Find out the Elasticity of Demand.

Great depression was a severe worldwide economic depression

that took place mostly

during the 1930’s, beginning in the United States. Prepare a brief note on it.

Define the concept of GDP deflator. Calculate the GDP deflator from the following

data and analyse it.
e In 2015, the GDP at current price is X 8,500.
° In 2015, the GDP at constant price is ¥ 7,000.

Answer any 4 questions from 19 to 23. Each carries 4 scores. 4 x4=16)
Complete the following table :
Output TFC TVC TC MC

0 100

1 100

2 75

3 375

4 400

(a) Distinguish between MPC and MPS.

(b) Calculate the value of multiplier and income generated when there is an additional

investment of ¥ 100 crore in an economy.

MPC Value of multiplier

Income generated

0.2

0.5

0.8

(a) Define the monetary policy.

(b) Reserve Bank of India controls the money supply in the country through its

instruments. Analyse them.

QD=500-P

QS=300+P

(a) Calculate the equilibrium price and quantity.

(b) Draw a diagram based on equilibrium price and quantity.
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16.

17.

18.

19.

20.

21.

22.

830} Hlceld ®e9IEls 10 0l alleiwenca|oud allg) e’ GlERIoWo QI6TlEN)aM).
aflel 15 0)a1@ow] 9WO)EMINUE GRAIWD B0) GHIGEID MI(@AGN QIIGIB)IM®). DD
aflaloomlend @eslruoomo @3

(@)  €aloBM Ql(@o QIOY)H.

(b)  catoBMEOH DEIAYIH® HOHENBOT)D.

1930-581@3 ce1ado @9)0108 Qlalla] QIAE ALIMUGTHG AN GREAGILOHWIEIoEM
@SAN0 D)o |@. DDIEMENOla] 630) £12e1) AflAIvEMo @QYI0IBN ).

GDP allleaggd ag)am @Ruo@o MIBQ|allae)d. @oey mell somemgled ailan
GDP alleagQ@ »emandan)d.

e  2015-@8 msa]) allei@leet GDP - 8,500 o)al

e  2015-@3 audle aileidleer GDP - 7,000 ©)al

19 2)®@3 23 2160W)BS ¢a 10853 aBO@EIEN0 4 ) INOTVIM DTNOHAY)®)d>.

4 capod afloo. (4 x4=16)
@I )RHIS)ONIANBHNAM ISl aYBATHNWIBN G :
2e|MMo TFC TVC TC MC
0 100
1 100
2 75
3 375
4 400

(a) MPC-@)o MPS-90 ®malenss alimpdavo af)S)narn9Ie) .

(b) avaud” ayaquolcd 100 630sl ©)IWes @RWIG MledHalo QIOEMIIUD
DEMBIZHIAN MM HAIe  AIBRUISMM 63Ul  AIEMIMAl)e  alSlal@d
CORUN|SITTD.

MPC DIMBOMINE Melyo | aldeulay 3UTl AI0)A0Mo

0.2

0.5

0.8

(@) atem MG M1@Q 2166

(b) olavdq nINe 6%an HAD oLl alem (aIBdMmeo™® aflallw mw
Y eDad§  eDa®Y
Dald0emMesle)Nss Ml EEe)IM). AflVddEIMo 61211))b.

QD =500 -P
QS=300+P
(a) auamelo alleiw)o quamelo RSO GEMENIBN)D.

(b)  @ilond @RSINOOMOBTIGE B0} W0 AIOW):.
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23. Short run production function is different from long run production functions.

(a) Identify any two important differences between the two.
(b) Draw the Average Product and Marginal Product Curves.
Answer any 2 questions from 24 to 26. Each carries 5 scores. 2x5=10)

24. Statement I : Indian Railway (IR) is India’s National railway system operated by the

Ministry of Railways.

Statement II : ONGC, ESSAR, Reliance Ltd. etc. are the oil extraction companies in

(a)
(b)
(c)
25. (a)

(b)

26.

the country.
Identify the closest market form associated with the above statements.
Point out the features of each market form.

List out two differences between these two market forms.

Mention the methods of National Income accounting and explain briefly the
expenditure method.

Calculate the GNP, ,,, from the following data :

Item Rupees (in crores)
NDP~ 10,000
Depreciation 2,000
Net Indirect Tax (NIT) 1,000
Net Factor Income from Abroad (NFIA) 5,000

The above figure shows an equilibrium in the product market.

Suppose an Autonomous Investment (Al) increases by ¥ 100 crores, and MPC is equal
to 0.8, what happens to the AD and equilibrium income ? Explain this with the help of
a diagram.

SY 35



23.

24.

25.

26.

(OaVIBRI DLJOBM WA dldeld:0el DLJOBM WAEMGTIE AIlaM)e QI ITVAdE).
(@)  nal ®meilenNss e AI®PAVEBU WIBla]lETI af)SIHTTNYIE) ).
(b) AP, MP ai@6mu3 Qo).

24 m)®@3 26 210OW)BS ¢21034BSEIG3 aBo®BILNO 2 af)ANOTIM 2OMOOAY)®))c>.

5 capod all@o. 2x5=10)

1o I : nmmylad eolcical cruaImeEBEd MEeNM® HOWIGE AODHILID-
M061D.

1aoaIm II : & agad &l o, agquod, dleiaday eflalgaw’ aganlal spamoilee
)N 3)91612|S)9)aM BHMUMIDHB06.

(a) DY (IAROAIMBB)AOWV] NITWHA]S aBQQAlle @RS)OM) MIENIN HEMIOG O)alo

aBO®IN GGl |0lW).
(b) 80600 HEMIOSOTIECPBW)o TVANCUHDDHUB af)9) ).
(C) 6D EMB) HEMIIBIBB)o GIAENBH VN QUKD PTVEIBUD af) H)®).

(@) erUile QIEIMo BHEMBPIINIMNTIMES ASIBHUWB aV)allafled)d. ealelal
AN @3 G3UTIQ QAUGYAOIMo GHIEMIAN® 2 1)0)B) AlAIBIEN .
(b) ©®06¢ HBIS)OMNBES)IM B (1000 GNP, 1, HEMENIHND

EDMo @)al (61D @3)
NDPy- 10,000
CQAOIMo 2,000
@RQale@dHH M@l (NIT) 1,000
aflesvoom) MlaM)ss @RQELISEH 5,000
aIo)@0Mo (NFIA)

DL|M  HEMUISOIOL! ALAMENGOAINUNWIHM MBHSIT  HBHISIO 2 (@O
MV)afla flaflg)Bs@.

Mo (alCa106l® dledMalo 100 €30Sl 0l aidaUlafioaianie MPC 0.8 agyamie
HO)MD. BT AD alBOIM) vamEel® AIeRIMETM]e  af)TNAOQAEM
MVoRANE9)M. 2 l(MOTNOG TVa00WET™INS AflKdElDAl8D)D.
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Answer any 2 questions from 27 to 29. Each carries 8 scores. 2x8=16)

27. Ms. Sudha wants to consume apple and oranges. Her income is I 400. The price of
apple (Good 1) is T 80/kg. and the price of orange is ¥ 50/kg. On the basis of this data

(2)
(b)
(©)

(d)
(e)

()

Draw the budget line.
Write the equation of budget line.

How much kg of apple that Ms. Sudha can consume if she spend the whole
income on that good alone ?

What is the slope of the budget line ?

Draw the new budget line in the same graph if her income falls to ¥ 200
remaining same the price of two goods.

What happens to the budget line if the price of apple rises to I 100 but income
and price of orange are remaining constant ? Draw a new budget line.

28. In a perfectly competitive market, the firm wishes to maximize its profit.

(a) Identify the conditions with the help of a diagram.
(b) Explain the profit maximization of a firm in the short run.
(¢) Inthe long run, a perfectly competitive firm earns the normal profit. Do you agree
with this ? Graphically substantiate.
29. SI. No. Item Amount (%)
1. Revenue Receipts 50,000
2. Capital Receipts 30,000
(a) Borrowing and other liabilities (¥ 15,000)
(b) Non-debt creating capital receipts (I 15,000)
3. Revenue Expenditure (including interest payments) 65,000
4. Capital Expenditure 15,000
5. Interest Payments 10,000
(a) Write down the equation for calculating Revenue deficit, Fiscal deficit and
Primary deficit.
(b) Calculate Revenue deficit, Fiscal deficit and Primary deficit from the given data.
(¢) Suggest any two measures to reduce the Fiscal deficit in the country.
SY 35 10



27 2)®@3 29 Q190W)BS ¢a1034BSEI@3 aBO®BILN0 2 af)IROTIM D2OMOOALI®)d:.
8 capod all@o. 2x8=16)
27, wlaci W @Raflgle 6300610 QOGBS @RYUA0IBHNAM). GRAIVIOS QIdYAOMo 400

@)a1WOEM. B0} HlEeWe @Ralgload allel (BIMIAOED AVOWMo) 80 ®)aIWeM.

830) Fleed sooamilond aflel 50 O)aIwoem. M AllaIEEBS)OS @RSITLOIMGITIE3

@IOY HBHIS)BD Gal0BEBBUIAE DO MEND :

(a) MNING COAIWOS afl(@o AIOW).

(b)  MING COOIWOS TVAAID Yo af))D)D>-

() 400 @)1 MM S21LI0ILH)BHWINEMEBIT YIAGT VWY )@ Gleelo
@Rya flud a10653008 BHYlW)o ?

(d)  enRQg COaIWOS OaIBlal af)(@WIEM ?

(e) Wadl aVWWOS AIEAIMo 200 0} IOV GHOWBHW)o BENE) TLIWMEBBINS
aflel 200016199} HalQOE3 983 @RAITLD Mlelallenss (NIadled @ean
T MIRY CORIWIV] QIO

() cafiglod allel sleeinss 100 0)a 100l a1BRUIE)BH®)0 af)IMI@3 630061 163
aflleidilene alo@omadilene 20QalejoGldledb@le H2IQOE3 OS8R @PAITLO
T MIRG CORIWIW] QIO .

28.  avmdan HlSAEE  HEMOBOIDIG agQle GISIM@ LI EMS)AMGIMOET

9L|96H @EMIQIBHUB @Y(NaOlHNAN®).

(a)  @PMIEVIRINIW 2 (BETOI TVaOIVWEDTDINS WNITWMHUD ANlVdEl DGl

(b)  EoaudOeIVzalE B30} DEO3H WG aBQAlle GHSIO@E LI EMS)M
@I AflvoEld:Gle9)d:.

(¢) dldear 2oeiaailed aumyden SlSABTLE GEMISOTIOL! B0} DL|OBS @emilg
MLOWOEM EIdEo AV(MAIEM EMS)AND. ENBIEMIS M6IBUB CILE BN EENRD ?
2 @O Ma00eE™6S QiluoEle:d1H9)D .

29. adlolo ol @)
maud e (@) 101@3)
1. 0QIMY) AI)AOIMo 50,000
2. MEIWM QAIO)AIMo 30,000

(a) QYW ag) MWD (X 15,000)
(b)  @SMENRIGHOGIH MEIWM AUEANGUB (I 15,000)

3. 0QIMY) ©a1e101)dUd (aleflvd @RSANUBOG|OS) 65,000
4. ?)EIWM O2ILI0NEUB 15,000
5. alefluo @RSO1(d 10,000

(@) oaImy &oail, WM &vil, (NG, &2l ag)aTIAIWIHS TVAAIIE:JEIBUD af)9)®) ).

(b) ®aMIg88 BEMBUB 9alcIUle] 0QIMY Gol, WM, @IOLOAG @Gl
af)aVIQ! BHEMBHOBND>.

(©) WMl $HOWIMGIMBS cRO@BIE10 0eNE 20BPEBU3 TBE3UTIN)D.
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Reg. No
JAF: 1 1 1
. 1
Time : 2 5 Hours
MARCH 2019 , 2
Cool-off time : 15 Minutes
Part — III
POLITICAL SCIENCE
Maximum : 80 Scores
f General Instructions to Candidates : \
® There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.
® Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
® Read questions carefully before answering.
® Read the instructions carefully.
® (alculations, figures and graphs should be shown in the answer sheet itself.
® Malayalam version of the questions is also provided.
® Give equations wherever necessary.
® Electronic devices except non-programmable calculators are not allowed in the

f13§080018, V39608353 a120))MWIBCFI608BU3

Examination Hall.

MBGley TVA@GTIM ajoea 15 AlMg" ‘@B Boa0 ©6Se” DNOIElEe)o.

‘@B BN ©6S0’ CaldBIEIBUR al@lalWe|SIM) DTMOBUY  BIRYAVY@6Mo
£21Q0M)o OalGWIUIHN)D.

DOTMOGIBUB af)$IANGIM D)MNI €2 10BYEBUB YYBLIaNABQ o A0V BHEMo.
WIBEGU6MBU3 MIIAIM)o UIBLIAABQ o AIWBHEMo.

BN 3SENDHUB, al(@BURB, N0aD)®HUB, ag)avial DOMOCala|dlo8 @eaN
DMROW1GleseMo.

Gal0B§6BU3 ALIVWOETIR Melwig)me.
@RYQUUD IS MLOLIBIT TVAAUIIDYEIBUD BI3IS)BHEMo.

CEIIMBHUB  OalQIMOIBHITD  HOTIANCLIQO)HUB  BYOHWIBZ B30}
DRI ESIEM D Daldb0eMAo alBld:10000HI@3 DalcOUl¥e)AI108 al10SIg).
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1. Identify the non-Congress minister of interim government that ruled the nation after

independence : 1)
(a) Rajkumari Amrit Kaur (b) Ram Manohar Lohia
(c) Dr. Ambedkar (d) Jagjivan Ram
2. Choose the leader of MNF from the following : 1)
(a) Angami Zapu Phizo (b) Lal Denga
(c) Harchand Singh Longowal (d) Master Tara Singh
3. Name the leader of Awami League in 1)
(a) Ziaur Rahman (b) Mujibur Rahman
(c) Zulfikar Ali Bhutto (d) H.M. Ershad
4. Which of the following is the year in which Soviet Union disintegrated ? 1)
(a) 1989 (b) 1990
() 1991 (d) 199%4
5. Expand UNFCCC. 1)
6. and were the leaders of USA and USSR during Cuban Missile
Crisis. 2)

(a) Nixon and Brezhnev
(b) Kennedy and Krushchev
(c¢) Stalin and Truman

(d) George Bush and Gorbachev

SY 36 2



L. qupP@E®MIDE0 EORITIMNEIEIW FSANLI NAIBOATIOE! EGHMBUNPNBOOMEGTI

Q@ Q)
(a) ©ORB)MIC ERA® &»DA (b) 020 @EMIaOA CLIaOY
(¢) @WI. BRoGMIBHA (d) =nedflaiad 0oo

2. anaes ®@alclemmM@Iad MIane ag)o.af)MB.af)an. cM@Iailom omossmmSemd : (1)
(a) @RMWIAl AVIaN) afleavd (b) e1@d awown

()  a0BaI03 MloU) CRIEGUNIAINGD (d)  20qu8 @200 MVlowy

3. eniogoeaudlarl @oalal elluland emmoal 1)
(a) miloand 0aoaoad (b) medlenn® 0aomOMm
(c) a@Batleed @oei @)ecso (d)  ag)aj-af)o. af)Baror’

4. anaies ®@aldlenmaldiad crvoalleg @l udlidlelle @aw ai@ato ? @
(a) 1989 (b) 1990
(c) 1991 (d) 19%4

5. UNFCCC-@95 al)@emajalo af) 9)@). @

6. PRI 2lloaTVE3 (EIGITVMW] BHOLIGI) GREAGIENWIES)o caTLoAlwg ENMIWEIBW)

CMDISNHMMOAQ 9o 9o BRYWIYMM). 2)

(a) @lBHTVEMo (ENIAHEEM Ao
(b)  OBMWIWo (@)aHE21010
(©)  quoelme )Mo

(d) e=0d2e2 it CUOAMIC|QI0
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7. The First Gulf War is indicated in many terms like ‘Video game war’. Write other two

terms relating to this. 2)
8. Match the following : A3)

(@) J.C.Kumarappa — Dairy Co-Operative Movement

(b) P.C. Mahalanobis — Economy of Permanence

(c) Amul — Rapid Industrialization

9.  Properly arrange the listed facts on Bharatiya Kisan Union and Anti-Arrack Movement

in the table given below : “4)
(a) Guaranteed supply of electricity at reasonable rate

(b) Gender equality

(c) Most of the members belonged to a single community

(d) Against domestic violence

(e) Fund resources and activities were mobilized through its organisational networks

() Adult literacy drive

(g) Western UP and Haryana

(h) Focused on sexual violence against women

Bharatiya Kisan Union Anti-Arrack Movement
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7. 8IMlo WWBan @)aLo ‘allaflcwo »Xfo W)RLY’ afIN)EaIoR! AaQ aldsBglene

@RGIWO|S). GROMOANENSS aBO@ LN EOMNEEINONN)®)D. ?2)
8.  Gal@)oalS] Gal@He)d : (&)

(a) o=m.aUl. $)200q] — SHHUICOIL[IBH MVaNBHOEM (AITVOIMo

(b) all.ofl. @maoricmomilay’ - MAlO@@OS TLMIBUOI (Ao

(c) @PM@3 — LI Ql§QITVOVAIE I6Mo

9. @OV Hlavoad WIEMIVWEM®Io 21000 AflEYEL (EITVLOIMETNWo GOl )SS allel
QAUTN®HBIM 2 NAIOS CalBATIGHNIND). BRAIO® 6 ATGIH)AM alSld0i@3
IOV (H06)a|S)BND “
(@) 9018 MPVAIW MEGHIE3 LIEAIHOAAT DOa [JOI0)OIN )

(b) eflon avamio
(¢) @R.LEBSEIE3 )3l 0NAl BEO MLABOIVTTIBIOQ]SAIE0WB)AN)
(d)  vIRalIB allaMEBUBHBOBINOHO MIEIOBHIME)

() alemo, ailealsonyd, (INIRTGIHMEBUD og)mﬂme;)@%% L2LISMI TMLoOlWIMGII-

£1)OS®IEM MVAIAOG] 2|
(f) alcwoz=m ailapePaL WMo
(g alila @).aill.dflen aodleomaiens

(h)  J>BeGNO0 MSE)AM HeLIUld: BRG (N3 DWABTVe0S]

@00 &lavoam wemlwad 21000 Qil0)@L (@ITVNIMo
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10.

11.

12.

13.

14.

15.

16.

Answer all questions from 10 to 13. Each carries 3 scores. 4x3=12)

Point out any three reasons which worked for the Congress dominance in the first three

general elections.

Write any three consequences of Shock Therapy.

Find out any three elements of growing consensus appears to have emerged among

most of the political parties in India.

Write any three economic impacts of globalization.

Answer any 4 questions from 14 to 18. Each carries 4 scores. 4x4=16)

Point out two major outcomes of early years planning. Explain each of them in three or

four sentences.

Examine the situations that led to the origin of Dalit Panthers and evaluate its activities
as a movement of marginalized people for their constitutionally guaranteed rights and

social justice.

Formulate your observation on Cold War. Examine the concept of deference which

prevented the Cold War from developing into hot war.
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10 0)®@3 13 Q190W)BH af)10 Gal0BEBURREN) QOMOSALI®)d. 3 ¢aILOA all®o.
“4x3=12)

10.  @RBOO™ 2)aN EGOETNS)a JGFEIORI CHIMIWIY CAWIAT@ITIM B2

(1R 2] ABO@ELIEN MAN GHOVEMEBBUD 21)eNEl NI E6)B>.

11.  eReen® 2lldlor@ins MAaN (IMPALIOMEIBUD agf) M.

12, oo yl@8 00(eyl@ a10@51aEl@3 QISAMQI0)IN ALACIVATIONM ABO@EIEN M)A

GRGULIDHUD HEEBOTN)D.

13. @aenoglaoamamlong age@aslene 2)am TLIMIBTID (aI® POLIDBBOBEI®)D.

14 m)®@3 18 2160088 €2 108BEI3 a@o®Bslene 4 af)dNOTIM DOMOOAY®)d:.

4 capod afloo. 4x4=16)

14.  @B{3el qLOMUGTHIG @@m;@am@roﬂ@c@ (1WOMBals QM BRMANVaNLIGOBUD
2 NNElBNEMIBND.  B06EIATIOMENGlajlo MEANI  MIGEID QDD O3

DVHOODL) D).

15, a1080I0IG89Bl096a]5 RMEBUWBAHS BOMELISM OO0 [0HH)AN  GRAIMIUIEBUIBN)
MO YOG BRIV B)aloeBHOENE VLIS af)aM MIRIY BEl® alCIYTVlH]

DOERAIAI (AIAUABBHIMEBS)o alG@lCUoWlBe)B:.

16. wWomweLeOMENGo)88 dlamng)es MIGle:HaNo  YINIBNE.  TVoElMOIBHN
TRO®@8 VTIGOW)RLAD TLOWYW WYBLABS AIQIOD (IBICOIWl2ODEBBOM af)aTy’

al@lGUIWI B9 .
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17.

18.

19.

20.

21.

22.

23.

24.

Evaluate structural hegemony imposed by us over the other nations.

What do you mean by global commons ? Write any three global commons. Write the

three agreements made for the protection of global commons.

Write any 4 questions from 19 to 24. Each carries 5 scores. 4 x5=20)

Examine the factors which developed into the accession of Hyderabad and merging of

Manipur into Indian Union.

Examine the incidents and circumstances that led to the split in the Congress in 1967.

The special status of Jammu and Kashmir and Article 370 is a matter of external and
internal dispute. Write any two features of Article 370. Discuss Jammu & Kashmir and

Article 370 as a matter of external and internal dispute.

Write the name of principal organs of UN. Explain each in three or four sentences.

Discuss the threats of terrorism and health epidemics as new sources of security issues.

Discuss the attempts of political transformation in Nepal from monarchy to democracy.
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17. cneadled aQ IREBRBENEAGE (M ICWIUTENAN  CLISMIaIEAIW  GRWIaI® o

al@lGUIWIB9) .

18. @REUWI8 HaIdMAVIBD af)INDOBHINE af)aNEM GRAMOAILNIND ? aBO®ELILNo
2N @RYENIG O I@)NVATIOW CalOOV)®)H. BRYENIB HAIO®YTVIOTID VoG]

)M @IMNMOV] DENOBHIV AN HOIO)HUB aBO@ELI00 ?

19 m)®@3 24 Q100W)BSB €2 108IBEI3 aBO@BIEN0 4 afINOTIM DOMOOAYY®)c>.
5 capod all@o. (4 x5=20)

19. 9920800103 M8 @EMIMIGE B)Slea3om@Im) allavlen. asilajd@ spamyad

@M IVIE9)BHW)o OalQBICRIHH MWfaf AUTVIODHUB alBlCUIUS B8,

20.  eaoemWOQY’ 1967-@8  afl8EOMPNEO®  QLoRAITBBl MU0 INLEINBSB)o

al@lGUIWIBe)H>.

2. @EEMALISMHNS @RM)EaYBo 370 =) HOWAIGIMN MENA  (IE®D  aldall
@RI DHONAIW GBHHEBUISH HOVEMAWISINE. @M)Ea 3o 370-008 OBl
Qe MLAMGUIAHMBHUWB af) ). BRMIG2IBo 370-00 =0 G0UAIR) MNIdROYAI0

@RYINEIBHQNAIW GIBENEBUBHE HIVEMAIBDIIMNODEIBOM )N 21Q2] 2 I1Qd>.

22. UN-om mauy @oem IlBQJa06m CLISHEBGINS Calo0P)®)d. B0C00alomandlajo

@)EANO MIGELID QIR {3 QTlAIBlH9) .

23. Al®oa1o6alp ald@2]aIPwldsle al)@I®  MLIEBHMIEAHAMIBSIBHIING  af)BBOM

af)aM 21B2] 12 1Qd>.

24, 002010%2101@3 MM RMIWlaI®IOTICRIMSs ¢cMaloglorl @2aglw aldlaldEmMo

2182 21Q)d>.
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Answer any 2 questions from 25 to 27. Each carries 8 scores. 2x8=16)

25. Indo-Pak relations has certain elements of peace and very serious situations of conflicts
and wars. Point out the elements of peace. Formulate your observation on conflict and

wars.

26. Explain the reasons of the declaration of emergency in 1975. Discuss its consequences.

27. European Union is treated as an alternative power centre to US hegemony. Explain its
formation. Evaluate its economic and military capacity and influential role in United

Nations as an alternative power centre. Discuss its limitations.
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25.

26.

27.

25 2)®@3 27 AIDOW)BB a134ST aBo®EBIENC 2 af)INATIM DOMOOALI®)D>.

8 capod all@o. 2x8=16)

EDAD-a 10 NITWEIBUBA 2 flEl TLAIWIMAIOAIW FNSHAISENGHBICSW]o N))MONIW
®RBOBBBIESWo WIRLEIBBIESW)o CAILIGBBENE. TLAIWIMAIANIW NSHAISEN)GHUD
2 NNElBNEMNEND:.  OBEHEBEBSWlo  WYELEBEBW)o GOl )88  ldlauemo

YOO .

1975-021 @RSIQIE00INND (1810 INODIOHE Ho0aMeBud alaidles)d. GRGIN3

(I LOLIDDIBBUB 21Q2,] 612101,

W)EN0alyM  @MIem  @REACIENM  BRYWlaIGAOTIOMMICOW)BHB  30)  6NIBDE3
@RUWIH0  CHMBDOW]  alBlWeMlEnaM).  @)E00aly@ MO  ©)nllaoemo
aflaidlend. @GEIa)g TLOMICTIHARe AOIVAIBHANAW CUOHID)o Haf)d (Y
TLoeISMAIENSs  ALOUWIMAIENIW alihlo f)BBOMWNN @RGIOHM  B30) MGG
@RUIHO0  CHMBAISNIMO@IN  alBlcLOUWleND. @RDIOM  ldGIDHUWB  1@a)

OalQd.
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